WESF1 (28)
F10PFETAMH

_ HeH_ HFBR

FAEE

K4

2

T

B

[BEE] BEREHMICEATEIE. FEARLITEAL, EHOBELET I L.

RO % K K.

V3
(1) Cos 5

(2) Tan}(~V3)

xT

UGBS sinh g = & C

ORI % D &
(1) ;Eﬂilzn fﬁin

(2) lim (vVn?—2n —n)

n—oo

t:tang LB,

2t
1+t

LB L ERE.

sinf = cos

Eb o ARDSfES, sing,cosg Ak 5N 5.

(1+2)" %2 DBEAZDIEIZEFL, EUHO 3HE TR,
(6] KoskEEE AWT, #AAR%ER

, coshx =

1 —¢?

+ 1%

TRINDHEEBO@EMEZ KD XK.

eiE _|_ e—CE

tanf =

2t

1—¢2

0<z<1 0<y<a’

cosh(x + y) = cosh z cosh y + sinh z sinh y

EIE=S (= 9= ==

IZDOWT, IRONMEEHZRE.



